Ph.No.: 2255-2350630/39 Website: www.neptunerealtygroup.com    WORK ORDER    WORK ORDER    WORK 2022    NPETURE REALTY PVT. LTD.    Contractor Name  SHREENATH ENGINEERING  NEPTURE REALTY PVT. LTD.    Contractor Name  SHREENATH ENGINEERING  WO Title    PAN :  Contract No  WO Title    Contract No  WO Title  SAAAACN9837D121  GUT    GST :  CAMOUNT Contract kindly execute the work as per the instruction given by our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.  SECUTTING WORK    LABOR FOR 100 AM DIA CORE CUTTING (150  1.00  NOS  360.00  360.00  180.00  180.00    AM DIP CORE CUTTING (150  1.00  NOS  450.00  360.00  180.00  180.00    AM DEPTH)    LABOR FOR 100 AM DIA CORE CUTTING (150
--

as p	per the instruction given by our site incharge.						
12	GROUND FLOOR REBARING WORK						
	LABOR FOR 10 MM REBARING	40.00	NOS	75.00	3000.00	18	
Spc.	CHEMICAL (FIS V 360 S PLUSH)						
13	GROUND FLOOR REBARING WORK						
	LABOR FOR 08 MM REBARING	400.00	NOS	60.00	24000.00	18	
Spc.	FISCHER CHEMICAL (FIS V 360 S PLUSH)						
Spc.	Ground Floor Rebaring Work -> Labours\n\nTower & Floor : Ground Floor						
15	GROUND FLOOR REBARING WORK	100.00	NOS	60.00	6000.00	18	
Spc.	Ground Floor Rebaring Work -> Labours\n\nTower & Floor : Ground Floor\n\nQty :	100.00	1105			10	
16	GROUND FLOOR RCC CORE CUTTING WORK LABOR FOR 125 MM DIA CORE CUTTING (150	4.00	NOS	360.00	1440.00	18	
17	MM DEPTH) GROUND FLOOR RCC CORE CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150 MM DEPTH)	1.00	NOS	360.00	360.00	18	
18	GROUND FLOOR RCC CORE CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150	4.00	NOS	450.00	1800.00	18	
19	MM DEPTH) GROUND FLOOR RCC CORE CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150 MM DEPTH)	2.00	NOS	550.00	1100.00	18	
20	1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150	2.00	NOS	450.00	900.00	18	
21	MM DEPTH) 1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150 MM DEPTH)	2.00	NOS	550.00	1100.00	18	
22	1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
Spc.	Civil Work -> 1st Floor RCC work -> 1st Floor						
	RCC Work Rebaring Work -> Labours\nTower & Floor : 1st Floor \nQty : \n1) LABOUR FOR 08 MM REBARING 128.0000 NOS\n\nRate (Basic rate): \n1) LABOUR FOR 08 MM REBARING Rs. 60 per nos.\nUnit of Measurement : Nos.\nPurpose of Work : Rebaring for coping and lintel at 1st floor level						

	have pleasure in placing with you our Work order for er the instruction given by our site incharge.	the following cont	ract kindl	y execute the work			
Spc.	Labour Name in Kenix : Shreenath Engineering\n\n1) Obelisk Building -> 1st Floor -> 1st Floor Civil Work -> 1st Floor RCC work -> 1st Floor RCC Work Rebaring Work -> Labours\nTower & Floor : 1st Floor \nQty : \n1) LABOUR FOR 10 MM REBARING 4.0000 NOS\nRate (Basic rate): \n1) LABOUR FOR 10 MM REBARING Rs. 75 per nos.\nUnit of Measurement : Nos.\n\nPurpose of Work : Rebaring for coping and lintel at 1st floor level						
25	1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK LABOR FOR 10 MM REBARING	8.00	NOS	75.00	600.00	18	%
Spc.	Re baring for coping and lintel at 1st floor level and 2nd floor level.\nRe bar work to be done with Fisher FIS V Plus 360 S Injection Mortar <b>1ST FLOOR RCC WORK REBARING &amp; CORE</b>						
	CUTTING WORK LABOR FOR 10 MM REBARING	16.00	NOS	75.00	1200.00	18	%
Spc.	Tower & Floor : 1st & 2nd Floor\n\nPurpose of Work : Rebaring for Wall Column						
27	1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK LABOR FOR 08 MM REBARING	148.00	NOS	60.00	8880.00	18	%
Spc.	Re baring for coping and lintel at 1st floor level and 2nd floor level.\nRe bar work to be done with Fisher FIS V Plus 360 S Injection Mortar 1ST FLOOR RCC WORK REBARING & CORE						
	CUTTING WORK LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	%
29	1ST FLOOR RCC WORK REBARING & CORE CUTTING WORK LABOR FOR 12 MM REBARING	30.00	NOS	105.00	3150.00	18	%
30	2ND FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 12 MM REBARING	40.00	NOS	105.00	4200.00	18	%
31	2ND FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	%
32	2ND FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 10 MM REBARING	8.00	NOS	75.00	600.00	18	%
Spc.	Re baring for coping and lintel at 1st floor level and 2nd floor level.\nRe bar work to be done with Fisher FIS V Plus 360 S Injection Mortar						,,,
33	2ND FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 10 MM REBARING	16.00	NOS	75.00	1200.00	18	%
				-			

4	2ND FLOOR RCC REBARING & CORE CUTTING						
	WORK LABOR FOR 08 MM REBARING	148.00	NOS	60.00	8880.00	18	
pc.	Re baring for coping and lintel at 1st floor level and 2nd floor level.\nRebar work to be						
	done with Fisher FIS V Plus 360 S Injection						
5	Mortar 2ND FLOOR RCC REBARING & CORE CUTTING						
	WORK LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
6	MM DEPTH) 2ND FLOOR RCC REBARING & CORE CUTTING						
	WORK LABOR FOR 200 MM DIA CORE CUTTING (150	2.00	NOS	550.00	1100.00	18	
7	MM DEPTH) 2ND FLOOR RCC REBARING & CORE CUTTING						
	WORK LABOR FOR 175 MM DIA CORE CUTTING (150	2.00	NOS	450.00	900.00	18	
8	MM DEPTH) 3RD FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	
9	MM DEPTH) 3RD FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
10	MM DEPTH) 3RD FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 125 MM DIA CORE CUTTING (150 MM DEPTH)	4.00	NOS	360.00	1440.00	18	
1	3RD FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150 MM DEPTH)	4.00	NOS	550.00	2200.00	18	
2	3RD FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18 18 18 18	
3	3RD FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 16 MM REBARING	8.00	NOS	150.00	1200.00	18	
4	3RD FLOOR MASONRY WORK REBARING WORK		NOC	(0.00	(000.00	40	
5	LABOR FOR 08 MM REBARING 3RD FLOOR MASONRY WORK REBARING	100.00	NOS	60.00	6000.00	18	
	WORK	375 00	NOS	60.00	14500.00	40	
6	LABOR FOR 08 MM REBARING 3RD FLOOR MASONRY WORK REBARING	275.00	NOS	60.00	16500.00	١ð	
	WORK LABOR FOR 12 MM REBARING	30.00	NOS	105.00	3150.00	18	
7	4TH FLOOR RCC REBARING & CORE CUTTING WORK	50.00			5150.00	10	
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
8	MM DEPTH) 4TH FLOOR RCC REBARING & CORE CUTTING WORK						
	WORK LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	

as p	per the instruction given by our site incharge.						
9	4TH FLOOR RCC REBARING & CORE CUTTING WORK						
		1.00	NOS	360.00	360.00	18	
	MM DEPTH)						
D	4TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (230	4.00	NOS	450.00	1800.00	18	
	MM DEPTH)						
1	4TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	
	MM DEPTH)						
2	4TH FLOOR MASONRY WORK REBARING						
	WORK LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	
3	4TH FLOOR MASONRY WORK REBARING	LOOR RCC REBARING & CORE CUTTING  1.00  NOS  360.00    EPTH)			-		
	WORK						
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	-
4	4TH FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 08 MM REBARING	315.00	NOS	60.00	18900.00	18	
5	4TH FLOOR MASONRY WORK REBARING						-
	WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	-
5	5TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
	MM DEPTH)						-
7	5TH FLOOR RCC REBARING & CORE CUTTING						
	WORK LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	
	MM DEPTH)						-
8	5TH FLOOR RCC REBARING & CORE CUTTING						
	WORK	1 00	NOS	450.00	450.00	18	
	MM DEPTH)	1.00	NOS	430.00	-30.00	10	-
9	5TH FLOOR MASONRY WORK REBARING						
	WORK	F0 00	NOC	75.00	2750.00	4.0	
0		50.00	NUS	75.00	3750.00	18	-
0	WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	
1	5TH FLOOR MASONRY WORK REBARING						
		275.00	NOC	60.00	16500.00	40	
2		275.00	NUS	60.00	16500.00	18	-
2	WORK						
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	
3	6TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 125 MM DIA CORE CUTTING (150	4.00	NOS	360.00	1440.00	18	_
4	MM DEPTH) 6TH FLOOR RCC REBARING & CORE CUTTING						
	WORK		100		2/0		
	LABOR FOR 100 MM DIA CORE CUTTING (150 MM DEPTH)	1.00	NOS	360.00	360.00	18	_

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 65 **6TH FLOOR RCC REBARING & CORE CUTTING** WORK LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) **6TH FLOOR RCC REBARING & CORE CUTTING** 66 WORK 4.00 NOS 550.00 2200.00 LABOR FOR 200 MM DIA CORE CUTTING (150 18 % MM DEPTH) 67 **6TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 10 MM REBARING 50.00 NOS 75.00 3750.00 18 % 68 **6TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 12 MM REBARING 35.00 NOS 105.00 3675.00 18 % 69 **6TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 08 MM REBARING 275.00 NOS 60.00 16500.00 % 18 70 **6TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 08 MM REBARING 100.00 NOS 60.00 6000.00 18 % 71 7TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH) 72 7TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) 73 7TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 18 % MM DEPTH) 74 **7TH FLOOR RCC REBARING & CORE CUTTING** WORK LABOR FOR 08 MM REBARING 100.00 NOS 60.00 6000.00 18 % 75 7TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 10 MM REBARING 50.00 NOS 75.00 3750.00 18 % 76 7TH FLOOR MASONRY WORK REBARING WORK NOS LABOR FOR 16 MM REBARING 8.00 1200.00 18 % 150.00 77 7TH FLOOR MASONRY WORK REBARING WORK 100.00 NOS 60.00 6000.00 18 % LABOR FOR 08 MM REBARING 78 **7TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 08 MM REBARING 448.00 NOS 60.00 26880.00 18 % 79 7TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 12 MM REBARING 35.00 NOS 105.00 3675.00 18 % 80 8TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH)

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 81 8TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 18 % MM DEPTH) 82 **8TH FLOOR RCC REBARING & CORE CUTTING** WORK 1.00 NOS 450.00 450.00 LABOR FOR 175 MM DIA CORE CUTTING (150 18 % MM DEPTH) 83 8TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 10 MM REBARING 50.00 NOS 75.00 3750.00 18 % 84 8TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 12 MM REBARING 35.00 NOS 105.00 3675.00 18 % 85 8TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 275.00 NOS 60.00 16500.00 % 18 86 8TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 100.00 NOS 60.00 6000.00 18 % 87 9TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH) 88 9TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) 89 9TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 % 18 MM DEPTH) 90 9TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 10 MM REBARING 50.00 NOS 75.00 3750.00 18 % 91 9TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 100.00 NOS 60.00 6000.00 18 % 92 9TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 275.00 NOS 60.00 16500.00 18 % 93 9TH FLOOR MASONRY WORK REBARING WORK 10.00 NOS 105.00 1050.00 % LABOR FOR 12 MM REBARING 18 94 **10TH FLOOR RCC REBARING & CORE CUTTING WORK** LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH) 95 **10TH FLOOR RCC REBARING & CORE** CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) 96 **10TH FLOOR RCC REBARING & CORE** CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 18 % MM DEPTH)

We have pleasure in placing with you our Work order for the following contract kindly execute the work

	10TH FLOOR MASONRY WORK REBARING						
97	WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	%
98	10TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 16 MM REBARING	8.00	NOS	150.00	1200.00	18	%
99	10TH FLOOR MASONRY WORK REBARING						
	WORK LABOR FOR 125 MM DIA CORE CUTTING (150	4.00	NOS	360.00	1440.00	18	9
	MM DEPTH)		1105	200,00	1110.00		,
100	10TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	9
101	10TH FLOOR MASONRY WORK REBARING						
		275.00	NOC	60.00	14500.00	4.0	0
102		275.00	NOS	60.00	16500.00	18	9
102	10TH FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	9
103	11TH FLOOR RCC REBARING & CORE			-			
	CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	\$
	MM DEPTH)						
104	11TH FLOOR RCC REBARING & CORE						
	CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	ç
	MM DEPTH)	1.00	1103	430.00	430.00	10	,
105	11TH FLOOR RCC REBARING & CORE						
	CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	9
10(	MM DEPTH)						
106	11TH FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	9
107	11TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	9
108	11TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	9
109	11TH FLOOR MASONRY WORK REBARING						
		25.00	NOC	105.00	2/75 00	4.0	
110		35.00	NOS	105.00	3675.00	18	2
110	12TH FLOOR RCC REBARIG & CORE CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	9
	MM DEPTH)			-			
111	12TH FLOOR RCC REBARIG & CORE CUTTING						
	WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	0
112	MM DEPTH) 12TH FLOOR RCC REBARIG & CORE CUTTING						
2	WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	9

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 113 12TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 12 MM REBARING 35.00 NOS 105.00 3675.00 18 % 114 12TH FLOOR MASONRY WORK REBARING WORK NOS LABOR FOR 08 MM REBARING 275.00 60.00 16500.00 18 % 12TH FLOOR MASONRY WORK REBARING 115 WORK LABOR FOR 10 MM REBARING 75.00 3750.00 50.00 NOS 18 % 116 12TH FLOOR MASONRY WORK REBARING WORK NOS 100.00 60.00 6000 00 % LABOR FOR 08 MM REBARING 18 117 **13TH FLOOR RCC REBARING & CORE CUTTING WORK** LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) 118 **13TH FLOOR RCC REBARING & CORE** CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 18 % MM DEPTH) 119 **13TH FLOOR RCC REBARING & CORE CUTTING WORK** LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH) 120 13TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 16 MM REBARING 8.00 NOS 150.00 1200.00 18 % 121 **13TH FLOOR MASONRY WORK REBARING** WORK LABOR FOR 08 MM REBARING NOS 60.00 % 100.00 6000.00 18 122 13TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 10 MM REBARING 50.00 NOS 75.00 3750.00 18 % 123 13TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 275.00 NOS 60.00 16500.00 18 % 124 13TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 12 MM REBARING 35.00 NOS 105.00 3675.00 18 % 125 14TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150 1.00 NOS 360.00 360.00 18 % MM DEPTH) 126 14TH FLOOR RCC REBARING & CORE CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150 4.00 NOS 550.00 2200.00 18 % MM DEPTH) 127 14TH FLOOR RCC REBARING & CORE **CUTTING WORK** LABOR FOR 175 MM DIA CORE CUTTING (150 1.00 NOS 450.00 450.00 18 % MM DEPTH) 128 14TH FLOOR MASONRY WORK REBARING WORK NOS % LABOR FOR 12 MM REBARING 35.00 105.00 3675.00 18 129 14TH FLOOR MASONRY WORK REBARING WORK LABOR FOR 08 MM REBARING 275.00 NOS 60.00 16500.00 18 %

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.		ace milety				
130	14TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	
31	14TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	
132	15TH FLOOR RCC REBARING & CORE						
	CUTTING WORK LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	
	MM DEPTH)						
133	15TH FLOOR RCC REBARING & CORE						
	CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	
134	MM DEPTH) 15TH FLOOR RCC REBARING & CORE						
134	CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
	MM DEPTH)						
135	15TH FLOOR MASONRY WORK REBARING						
	WORK LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	19	
136	15TH FLOOR MASONRY WORK REBARING	100.00	1103	00.00	0000.00	10	
120	WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	
137	15TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	
138	15TH FLOOR MASONRY WORK REBARING						
	WORK	35.00	NOC	105.00	3475 00	4.0	
120		35.00	NOS	105.00	3675.00	10	
139	16TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00		18	
	MM DEPTH)						
140	16TH FLOOR RCC REBARING & CORE						
		4.00	NOC	FF0 00	2200.00	4.0	
	LABOR FOR 200 MM DIA CORE CUTTING (150 MM DEPTH)	4.00	NOS	550.00	2200.00	18 18 18 18 18 18 18 18	
141	16TH FLOOR RCC REBARING & CORE						
	CUTTING WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	
	MM DEPTH)						
142	16TH FLOOR MASONRY WORK REBARING WORK						
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	
143	16TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	
144	16TH FLOOR MASONRY WORK REBARING						
		E0.00	NOC	75.00	3750 00	40	
1 45		50.00	NOS	75.00	3750.00	18	
145	16TH FLOOR MASONRY WORK REBARING WORK						

	have pleasure in placing with you our Work order for th per the instruction given by our site incharge.		ace minuty				
146	17TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450.00	450.00	18	9
	MM DEPTH)						
147	17TH FLOOR RCC REBARING & CORE						
	CUTTING WORK LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	
	MM DEPTH)	4.00	NOS	330.00	2200.00	10	
148	17TH FLOOR RCC REBARING & CORE						
	CUTTING WORK						
	LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
	MM DEPTH)						
149	17TH FLOOR MASONRY WORK REBARING						
	WORK LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	
150	17TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	
151	17TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	275.00	NOS	60.00	16500.00	18	
152	17TH FLOOR MASONRY WORK REBARING						
	WORK	25.00			2/75 00		
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	
153	18TH FLOOR RCC REBARING & CORE						
	CUTTING WORK LABOR FOR 100 MM DIA CORE CUTTING (150	1.00	NOS	360.00	360.00	18	
	MM DEPTH)	1.00	1105	500.00	500.00	10	
154	18TH FLOOR RCC REBARING & CORE						
	CUTTING WORK						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	
455	MM DEPTH)						
155	18TH FLOOR RCC REBARING & CORE CUTTING WORK						
	LABOR FOR 175 MM DIA CORE CUTTING (150	1.00	NOS	450,00	450.00	18	
	MM DEPTH)						
156	18TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 12 MM REBARING	35.00	NOS	105.00	3675.00	18	
157	18TH FLOOR MASONRY WORK REBARING						
	WORK		100	(0.65			
		275.00	NOS	60.00	16500.00	18	
158	18TH FLOOR MASONRY WORK REBARING						
	WORK LABOR FOR 10 MM REBARING	50.00	NOS	75.00	3750.00	18	
		50.00		, 5,00	57 50.00	10	

We	have pleasure in placing with you our Work order for the	following contr	act kindly	execute the work			
as p	er the instruction given by our site incharge.						
159	18TH FLOOR MASONRY WORK REBARING						
	WORK						
	LABOR FOR 08 MM REBARING	100.00	NOS	60.00	6000.00	18	%
Spc.	Site : Neptune Obelisk						

Agency : Shreenath Engineering

Labour Name in Kanix : Labour for 8 mm Rebaring

\_ . .

Labour for 10 mm

Rebaring

Also Find Attachment for your reference in KANIX

Tower & Floor : 3rd Floor To 18th Floor

Qty : 8 mm : 100 nos. per floor (Each & Every floor - 3rd To 18th)

10mm : 50 nos. per floor (Each & Every floor - 3rd To 18th)

Rate (Basic rate): 8 mm = Rs.60/- per nos.

10 mm = Rs.75/- per nos.

Unit of Measurement : Per Rebar (Nos.)

Purpose of Work : Rebaring for Lintel & Coping in Masonary Work

				Total GS	T (B)	13361	4 90
				Contract Amoun	t (A)	74230	05.00
	LABOR FOR 08 MM REBARING	92.00	NOS	60.00	5520.00	18	%
	CUTTING WORK						
161	TERRACE FLOOR RCC REBARING & CORE						
	MM DEPTH)						
	LABOR FOR 200 MM DIA CORE CUTTING (150	4.00	NOS	550.00	2200.00	18	%
	CUTTING WORK						
160	TERRACE FLOOR RCC REBARING & CORE						
	New Work order / Revision : Existing W/O -36						

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Total (A + B )

## Terms & Conditions

## SAFETY TERMS

1) Work Compensation (WC) Policy is a must for every contractor.

- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.

4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.

5) Every Quarterly they must submit a service report of their respective machines to the site incharge.

6) Contractor has to maintain enough lighting during night work at site.

7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

\* All responsibilities of goods during transportation and unloding at site by supplier and vendors.

\* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site officialy.

\* Biling amount should not exceed the rate and total value mentioned in this WO.

\* Failure to comply with specification, terms and conditions of this order or accepted delivery.

schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

## For NEPTUNE REALTY PVT. LTD.

Authorized Signatory